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m = 7n2+§n—3,7(n+5)

TecT
CLS BBO,D, n=2

. BbiBOoO m=30,6
INPUT “n="; n

LET m=7*n*n + 2/3*n —-3.7%(n + 5)
PRINT “m="; m
END



HanTtn KonnyecTBO CeKyHA B 3a4aHHOM
4yncrie MUHYT.

CLS TecT

INPUT “m=": m BBog m=4 (1 MWH =
60 cek.)

LET s=60*m BbiBoa s=240

PRINT “s=“; s (s=60'm)

END



PewnTtb 3agayu

L r=—ke- 64k +8)+ >k
9 4

2. K=9/7c+ %(c —3.8)

3. Hantwm KonuyecTBO KOmMneek B 3agaHHOM 4Yucrne
pyonen.



t:lk2-6,4(k+8)+ik

9 4
CLS TecT
INPUT “k=“; k BBO,EI, k=2
BbiBog t=30,6
LET t=1/9*k*k — 6.4*(k +
8)+ 3/4%k

PRINT “t=; t
END



K=9)7c + %(c — 3.8)

CLS TecT
INPUT ”C:“; C BBO,EI, c=2
BbiBoa k=30,6

LET k=9.7*c + 5/6*(c — 3.8)
PRINT “k="; k
END



Hantu konnyecTBO Koneek B 3a4aHHOM
yucne pyonen.

CLS TecT

“,_1u, Beopg r=4 (1 py6J'Ib =
INPUT “r="5r 100 Kon.)
LET k=100%r BbiBog k=400
PRINT “k="; k (k=100-r)

END



